A

2009 = =0 AF 2B
SN AL
HH: CABY JBAL B
Sl BITA(EZ) el (St5: & 2)
(=] ol (= (=] 1E- I|_-|LI;=|_||:_ =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
A 9,201,788 6,369,156 2,832,632
Al 2,423,158
2 6,778,630
SAEY DBl 22 1,008,277 924,017 84,260
HYTLH(ER) Zel 83,040 80,040 3,000
2TRN LHEA 8,000 8,000 0
201 Ysr2gy| 8,000 8,000 0
01 ARl 8,000 8,000 0
Osgy+42 200,0002 *40Z X| 8,000
CREER 21.3% 2,380 2,380 0
201 ey 2,380 2,380 0
IR 2,380 2,380 0
OSIlRs=Yas42 70021 ¥40021 280
OHA+YE 28 L HH SX+42
2,00024 +20004 400
OMe+e DXA R0 70,0009 102 A 700
OABHA % RS M 20,0002 ¥55 1,000
CHAFH L A3 72,660 69,660 3,000
201 ey 2,800 2,800 0
RS 2,800 2,800 0
OL-ZEABHSE(BL,HEIIS)
1, 00021 *50004 500
OUANEEINEZNHNISS 60,0002 53| 300
OUXR(SYTR2HBSHINY|)
200,0002 1024 2,000
202 o1t 3,360 3,360 0
01 =UHolb 3,360 3,360 0
OLFASEN ISR A AIEF Ol
10,0002 2% + 142 %122 3,360
203 YREAY) 4,500 1,500 3,000
CIEEEEEETY 4,500 1,500 3,000
OLFAHEUAXISTH NOGEXAY)
4,500,000%! 4,500
307 eI2t0|H 62,000 62,000 0
05 QIeIES 62,000 62,000 0




SAN AL
I SAEE JIEAIE 2]
Bl AZWA(EZ) 22 (Sl &)
_ o HEC
FA R CA(EA) - NFAY - BYES Oll & <4 Ol AF o8 BlusZ
OL8dEE9l 50,000,000 50,000
O=ZBYEHSLANUSEANODEH IS A
al 2,000
o - HMEHEYUHIIS K2l
20,0002 »1E+50 1,000
oA SENLHIISHL
20,0002 »1E+50 1,000
Oy dddyUz e s
200,000& *50& * 12 10,000
ofigts= =4 44,948 34,697 10,251
Ol ofietsa 2el 38,177 34,697 3,480
101 iy 9,120 7,440 1,680
10 JIZHZ22NSE+ 9,120 7,440 1,680
Oot=afetsdd A zeld
38,0003 x2H x5 x24 2= 9,120
201 &er=3 27,257 25,457 1,800
01 Atz 22l 4,118 4,118 0
Oget+3d| 4,118
oMY BHEMESE 7Y
3,070& *3001 x 122 1,106
o0lZESFY FLES FY
125,000 x12& 1,500
odHMedl =21 Ot P&
7003 18001 <12 1,612
02 =522l 23,139 21,339 1,800
OZZe3LHA 18,480
odferZe I, &~ M=
1,500,000& =122 18,000
odEIH AMEE 40,0002 » 122 480
O¢igHl(atd4) 8643« 1202 *BAl 2+ *20H 2 1,659
OMNEZHIRXBI(OIEZAILS 22F X
) 3,000,000 3,000
307 2i2rold 1,800 1,800 0
05 UUAE= 1,800 1,800 0
OOt a3 e/ 421 HHIEAY|
150,000 122 1,800
Ol E=ZelAIR e LT 2+3Al 6,771 0 6,771
401 AIEZBIZ=F0YI 5,771 0 5,771




SN HED
HE: CAEZ JIBAlE 22

S9l iR E4 (5l &2
_ _ HE T
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
01 AlZH] 5,709 0 5,709
OOILE BHAHTABEIARA LA
5,709, 0002 14! 5,709
03 Al&=CH] 62 0 62
OOIAE BHATRABEIARA R A
5,709,0002 *1.08% 62
405 TarE S 1,000 0 1,000
01 MMUSBFHSY] 1,000 0 1,000
OVRY 800, 000+ 14} 800
OTve & oy 200, 000%14} 200
Zs7 g1z 830,289 809,280 71,009
2=7 gz N 95,950 95,590 360
201 syl 84,590 84,230 360
01 A= 2ell 2,750 2,390 360
OgsrLg| 1,980
oNREE P 10,0002 122 1,200
0IEEAM P 780
B 50,0002 62 300
=BIPE] 20,0002 128 %27 480
ozsraszAI Y 7,000 *10Z *113] 770
2 BT2YH) 81,840 81,840 0
OZET MRS U AFMAN 248
1,600,002 * 122 9,200
OJIEt ZZRBLHA (HE5IM, 015 st
ANEZR) 2,640,000% 2,640
ONEZHIRNU(BSAU 245 2HAIL)
60,000,0002! 60,000
202 o1t 3,360 3,360 0
01 =UHoTbl 3,360 3,360 0
ozsra EFO
20,0002+ 1% * 142 +122 3,360
206 &Yl 8,000 8,000 0
EET 8,000 8,000 0
OZETLUALR 2R 2L
8,000,002 14! 8,000
IS HALTX At 7,200 7,200 0
I




SAN AL
I A JIgAE 2]
el Ss7 RAac

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
202 O4Hl 7,200 7,200 0
04 =M 3t 7,200 0 7,200
OZ2s72cl SRt X =2 0]
1,800,000& x4 x12 7,200
s+ SA2e 24 777,139 706,490 70,649
307 QI2t0IA 777,139 706,490 70,649
05 QIRlEZ 777,139 706,490 70,649
Oss7sA&cESA 777,139,000 * 14| 777,139
ANengded C2H4 4,188,892 2,386,902 1,801,990
Al 1,788,158
- 2,400,734
HAMEZIHE & Fl 3,070,330 1,455,460 1,614,870
Al 1,300,000
- 1,770,330
HEZ A& 82E2 EXIZAt 900,000 900,000 0
Al 450,000
T 450,000
401 AIEHIZLROY] 900,000 900,000 0
Al 450,000
- 450,000
01 AlI&HI 895,000 895,000 0
OAl &I 895,000,000& 14! 895,000
Al 447,500
T 447,500
03 A& =01 5,000 5,000 0
OAIE 20HHI 5,000,000& 5,000
Al 2,500
- 2,500
E2=F =4 4l 151,080 151,080 0
401 AIEHIZ =0 151,080 151,080 0
01 AlI&HI 150,000 150,000 0
OAl &I 150,000,000 * 14 150,000
03 A& =0 1,080 1,080 0
OAIZ20HHI 150,000, 000& *0.72% 1,080




DAL

 NHBHYUN C2AM

PHACRINE o FY

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
ZUolEzg E582 400,000 201,440 198,560
Al 200,000
- 200,000
401 Al &BIZ20HYI 400,000 201,440 198,560
Al 200,000
2 200,000
01 Al&H| 398,000 200,000 198,000
OAl&H| 398,000, 0003 * 1A 398,000
Al 199,000
2 199,000
03 AlZ=0Hl 2,000 1,440 560
OAlE2Hb] 2,000,000 2,000
Al 1,000
- 1,000
=02 L3 oK EY| 500,000 0 500,000
Al 250,000
- 250,000
401 Al 4HI=20HYI 500,000 0 500,000
Al 250,000
- 250,000
01 A&l 497,000 0 497,000
OAl&H] 497,000,000& 497,000
Al 248,500
- 248,500
03 AlE=2C0HYI 3,000 0 3,000
OAlI& 2 CHYI 3,000,000 3,000
Al 1,500
- 1,500
Ot o DtCHsr == &t = 252,250 0 252,250
401 A&HIZ 20 252,250 0 252,250
01 A&l 252,250 0 252,250
OAl&H| 252,250,000& 252,250
ez SLZ2FH EZ 500,000 0 500,000
Al 250,000
- 250,000




DAL

 NHBHYUN C2AM
D HAZRINSE o FY)

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
401 Al&BIZL20HYI 500,000 0 500,000
Al 250,000
2 250,000
01 Al&Hb| 497,000 0 497,000
OAl&HI 497,000,000 * 14 497,000
Al 248,500
- 248,500
03 AlZ=0HI 3,000 0 3,000
OAIE =t 3,000, 000& 3,000
Al 1,500
- 1,500
OI2EX EAHI(SHS 405-58) 67,000 0 67,000
401 Al&HIZL2C0HYI 67,000 0 67,000
01 Al&Hb| 67,000 0 67,000
Oll2EXNEAZ 67,000,000& 67,000
ez MZS222 1A S2EHISA 300,000 0 300,000
Al 150,000
- 150,000
401 AUl =204 300,000 0 300,000
Al 150,000
- 150,000
01 Al&Hl 298,000 0 298,000
OAl& | 293,000,000 298,000
Al 149,000
- 149,000
03 AlZ=2C0HYI 2,000 0 2,000
OAl& 2 CHHI 2,000,000& 2,000
Al 1,000
- 1,000
TEeREX2 FH| 370,756 287,358 83,398
Al 150,000
- 220,756
TZAE= FH| 200,000 201,440 A 1,440
Al 100,000
- 100,000




DAL
D ANEREYA 224
CEE2FXE AU

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
401 Al&BIZL2CHYI 200,000 201,440 A1,440
Al 100,000
- 100,000
01 Al&Hb| 199,000 200,000 A 1,000
O=4es T 222 &Y
199,000, 0003 » 14! 199,000
Al 99,500
- 99,500
03 AI&=CHI 1,000 1,440 A440
O=ctes T225=2 | 1,000, 000& 1,000
Al 500
- 500
ANEAB20 &X & Fhl 100,000 20,216 79,784
Al 50,000
- 50,000
401 Al &BI=20HYI 100,000 20,216 79,784
Al 50,000
- 50,000
01 Al&HI 99,000 20,000 79,000
OAl&Hl 99,000, 0003 * 1A 99,000
Al 49,500
- 49,500
03 AIZ=C0HYI 1,000 216 784
OAl& 2 CHYI 1,000, 000& 1,000
Al 500
- 500
HASXoHE EUEY 29 40,432 40,432 0
401 Al4&HI2C0HYI 40,432 40,432 0
01 A&l 40,000 40,000 0
OAl&Hl 40,000,000& =14 40,000
03 AlZ=0Hdl 432 432 0
OAlIZ20HY] 40,000,000& *1.08% 432
T2RE=E FA2e 30,324 25,270 5,054
401 Al&HIZ 20 30,324 25,270 5,054
01 A&l 30,000 25,000 5,000




DAL
NG DEEdE T 2Hd
P EE2FRXE FHH|

B . M. CHe (5 HEAY . B2 Al OH HEE Hl =2+

OAl&H| 30,000,000& * 14! 30,000

03 AlZ=2C0HYI 324 270 54
OAIE =21l 30,000,000 +1.08% 324

23 ol& FH| 650,000 453,240 196,760
Al 325,000
- 325,000

ZHUOIHEZ 2IE Y| 350,000 151,080 198,920
Al 175,000
- 175,000

401 Al&HIZ20YI 350,000 151,080 198,920
Al 175,000
2 175,000

01 A&l 348,000 150,000 198,000
OAl&HI 348,000,000 * 14 348,000
Al 174,000
2 174,000

03 A=l 2,000 1,080 920
OAIE =1l 2,000,000 2,000
Al 1,000
- 1,000

A= geits 98 300,000 0 300,000
Al 150,000
- 150,000

401 Al &BIZ20HYI 300,000 0 300,000
Al 150,000
2 150,000

01 Al&H| 298,000 0 298,000
OAl&H| 298,000, 0003 * 14! 298,000
Al 149,000
- 149,000

03 Al&=CHYI 2,000 0 2,000
OAIE S HHI 2,000,000 2,000
Al 1,000
- 1,000




SA
X XH .
(=

chel:

214 7
TeipEe® 2204
c2ex 2

) _ - FSIEL =
SNBSS - HRAY - BHES Aboy e HIRZE2
TR 22 97,806 190,844 193,088
Al 13,158
= 84,648
cEEeE NHPY 30,000 135,000 105,000
206 T2 30,000 25,000 5,000
01 W=l 30,000 25,000 5,000
OZ2el8 N7 (2eH, a2, 0rA
2 5 7Y) 30,000,000 30,000
TR0 OHE IWSHE 4,000 4,000 0
206 T2 4,000 4,000 0
01 M2l 4,000 4,000 0
OERB4LHHEXHSH -2
4,000,00021 *14] 4,000
T2HBAIAL NES 0B B4 26,316 25,354 962
Al 13,158
= 13,158
101 o124 26,316 25,354 962
Al 13,158
o 13,158
10 JIAHIZENSE+ 26,316 25,354 92
OZAIDIBEAIE AIAE(I0HE) 28
26,316,0002 *14! 26,316
Al 13,158
- 13,158
SAIAE BHl X2 26,490 26,490 0
201 Yer2y| 26,490 26,490 0
EEEETI 1,680 1,680 0
OT22elMols &AL
70,0008 6% *43] 1,680
02 ZZ=2YH 24,810 24,810 0
OXHIRFI 12,810,000 12,810
OJIHFHIR XL 10,000,000} 10,000
O1ER& IS XY 2,000,0002 2,000
CEAM B2SY 11,000 0 11,000
201 Ygr2gyl 2,000 0 2,000




2 A4
HH: NEREYA 22044

o9 228X 22 (el &
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K @ﬁw Hos
01 At2elt| 2,000 0 2,000
OZHI (L SaHl) 2,000,0008! 2,000
305 HHa3S 5,000 0 5,000
01 tHa2s 5,000 0 5,000
OtHAZS (A S) 500,00021 %1021 5,000
405 TrabE S| 4,000 0 4,000
01 RAYSEF =S| 4,000 0 4,000
OMETY(&HEZ2IY)
4,000,000+ 1CH 4,000
St&& - Xiota 2el 238,233 495,418 A257,185
st el 235,200 492,385 257,185
StE FEATA 100,900 30,324 70,576
401 AlZHIL 20 100,900 30,324 70,576
01 A& 100,000 30,000 70,000
Odl4E Z=HTA 100,000,0002 *14! 100,000
03 Al&=Ch 900 324 576
O84S Z=HTA 100,000, 0002 *0. 9% 900
SIEETRES FHIBA 50,540 50,450 9
401 AlSHILSH] 50,540 50,450 9
01 A& 50,000 50,000 0
OA&BI(HE, D40 HTHotE-ES 22
(IENFEE=YE[)) 50,000, 000! * 14! 50,000
03 Al&=Ch 540 450 90
OAl& | 50,000, 000! *1.08% 540
ST BATA 70,630 201,440 130,810
401 AlSHILEH] 70,630 201,440 130,810
01 A&l 70,000 200,000 130,000
O5t 42 B4 A 70,000,000} 70,000
03 Al&SCHHl 630 1,440 ~810
OBt B2TAF 20|
70,000,000 %0. %% 630
St&E Aldmel X 13,130 8,290 4,840
201 gty 7,190 2,980 4,210
01 At=2telt| 2,400 0 2,400
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SAND AL
MM Gt& - Kot 2el
Eel: ot 22 (Sl &)
< _ o A
FA R CA(EA) - NFAY - BYES Oll & <4 Ol AF o8 BlusZ
OS2I (Mol IICHEI-6OH 2 THEI)
2,400,000 2,400
02 s==2d 4,790 2,980 1,810
O3 LAAl 590
oCCTVAIE BN =FE= 70,0002 »22 140
oCCTVAIY 28 & 360,000 *1CH 360
o CCTVAE Xt XHAl 30,0002 *12 30
oCCTVAY NS EAMT+=2 60,000 60
OAE&HBI= Xl 100,000 1CH* 12 1,200
OXt& s el 250,000 *1CH 12 3,000
203 YR =2y 1,500 1,500 0
03 AIHFIH S =AY 1,500 1,500 0
OA#F=AYF = 1,500,000& 1,500
206 Tz bl 4,440 3,810 630
01 M= 4,440 3,810 630
Odt=EE2+2 Mabl 3,600,000 3,600
O=esSA2Z3S MM 840,000& 840
Kot ==2te] 3,033 3,033 0
Xot==(HS) 38l SA 3,033 3,033 0
401 AlZ2HIZ=0HYI 3,033 3,033 0
01 Al2H 3,000 3,000 0
OLFNOIAAHES (28)EY=STSA
1,500,000 2= 3,000
03 Al2=0idl 33 33 0
OLRXOILOHS(23) =T SA
3,000,000% *1.08% 33
CE2xd % M2 3,468,772 2,247,133 1,221,639
Al 635,000
- 2,833,772
nzs 2l 2,494,581 1,401,299 1,093,282
Al 635,000
- 1,859,581
l2s |FA22 X2 922,421 537,470 384,951
201 etz 907,421 514,155 393,266




SA
X XH .
(=

chel:

raf=N,
CEXxE & d)j2e
lzs 2el

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
02 23234l 907,421 514,155 393,266
O332=aZLMA 907,421
0Z2S IRz 665,270,6453 x 14 665,271
0JI2S LY AMAH SAZ
12,000, 0003 * 14| 12,000
oHESHEIIRS 223,401,024 1Al 223,402
oXNSHXE BX MIIRI
6,747,840 * 14 6,748
206 M=l 15,000 23,315 A8,315
01 M=l 15,000 23,315 A8,315
oitzs B2 M7 15,000, 0003 * 14! 15,000
Ot =2 1A 2SS JHl 520,000 220,000 300,000
Al 260,000
- 260,000
401 A &HIZ20YI 520,000 220,000 300,000
Al 260,000
- 260,000
01 A&l 518,000 218,428 299,572
OAl&HI 518,000,000& 518,000
Al 259,000
- 259,000
03 AIZ=CHHI 2,000 1,572 428
OAl& £ CHHI 2,000, 000& 2,000
Al 1,000
- 1,000
N=2sS RA E= 302,160 351,597 AN49,437
401 A &HIZ2C0HYI 302,160 351,597 AN49,437
01 A&l 300,000 349,083 249,083
Oojtzs |RANE= 300,000,000 * 14 300,000
03 AIZ=0HHI 2,160 2,514 A 354
Oojtzs RANE= 300,000, 000& *0.72% 2,160
1068 0Otw 012 28 &AL 250,000 0 250,000
Al 125,000
- 125,000
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DAL
P EEXYE Y AMI|2e
D JI2E 2l

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
401 Al&BIZL20HYI 250,000 0 250,000
Al 125,000
2 125,000
01 Al&Hb| 249,000 0 249,000
OAl&HI 249,000,000 * 14 249,000
Al 124,500
- 124,500
03 AlZ=0HI 1,000 0 1,000
OAIE =t 1,000, 000& 1,000
Al 500
- 500
PHEIIZS HUIAMS 500,000 0 500,000
Al 250,000
- 250,000
401 Al &BIZ20HYI 500,000 0 500,000
Al 250,000
- 250,000
01 Al&H| 497,000 0 497,000
OAl&H| 497,000,000& 497,000
Al 248,500
- 248,500
03 AIZ=0Hl 3,000 0 3,000
OAlE2Hb] 3,000,000 3,000
Al 1,500
- 1,500
s 2l 190,576 184,343 6,233
S2UH HIIANEE X 190,576 184,343 6,233
201 Let3| 100,000 112,186 A 12,186
02 =329l 100,000 112,186 A 12,186
O==23LAHA 100,000
02dSs &I 100,000, 000& 1A 100,000
206 M=l 10,000 13,995 A 3,995
01 M=l 10,000 13,995 A 3,995
OZRE B+ UK 7L
10,000, 0003 * 14! 10,000
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SA
X XH .
(=

chel:

raf=N,
CExE & &or2el
SEsS el

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K '@,‘;OH Hos
401 AlEHIZL R0 80,576 58,162 22,414
01 A&l 80,000 57,643 22,357
O3S RAES 80,000,0002 *14! 80,000
03 AlZ=0HbI 576 519 57
O3ds |RANE* 80,000,000& *0.72% 576
2ots 2tel 236,440 232,123 4,317
Hors K22 X 95,360 90,737 4,623
201 L2yl 80,360 75,737 4,623
02 332 80,360 75,737 4,623
O==23LAHA 80,360
02oE &MIIR=S 80,000,000 »14] 80,000
00ISHERZ 30,0002 12 360
206 MEl 15,000 15,000 0
01 MZHl 15,000 15,000 0
OESELESXMTLY 15,000,0002! 14} 15,000
HOS KX 24 120,864 70,630 50,234
401 AlEHI L0 120,864 70,630 50,234
01 A& 120,000 70,000 50,000
OBots RANE=+ 120,000, 000& 1 4] 120,000
03 A& 864 630 234
OEots RN+ 120,000, 000& *0.72% 864
2ots s EEI wHMIBA 20,216 20,216 0
401 AEHI L2 20,216 20,216 0
01 A& 20,000 20,000 0
O=2ots Ns B LMSA
20,000,000 * 14 20,000
03 AlZ=0Hd] 216 216 0
OEets Xt=s HZEBI| WHSA
20,000,000 *1.08% 216
XstExE 22 534,935 415,548 119,387
X5t . X e ®I|&H |2 95,855 45,486 50,369
401 AIEHILROHY| 95,855 45,486 50,369
01 Al&H] 95,000 45,000 50,000
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M AL
H: 2
&t XI5t

_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OHIAEI 2184y 30,000,000 * 1Al 30,000
OFEINNEE SXEx 15,000, 000! * 1Al 15,000
OHYS SN2 50,000,000 * 14! 50,000
03 AlX=0HHI 855 486 369
OAl&2HH| 95,000, 0002 0. 90% 855
Kot e HIALE 22l XN 36,200 247,687 A211,487
201 B2 AH| 36,200 247,687 A211,487
02 2229 36,200 247,687 A211,487
OZZQZ22H A 24,200
ORKISIRIE (4MA)HEHHE 22
23,000,000 * 1Al 23,000
OXNGIEXE ZAIAALE SAAE2
100,000 *12& 1,200
OAIEZEHIS X (XISt X E 84 )
12,000,000 * 14! 12,000
SEXGHHE BHHESE DM Z A 402,880 0 402,880
401 Al&HILLCHY] 402,880 0 402,880
01 Al&H] 400,000 0 400,000
OHZE LHZ2A 400,000,000 400,000
03 AlE=S0HHI 2,880 0 2,880
ORMIZAF 2O 400,000,000 0. 72% 2,880
=X ®IIAIE HU| 12,240 13,820 A 1,580
BEgn 527 |X2c 10,240 11,820 21,580
201 LE2YH| 10,240 11,820 A1,580
02 2229 10,240 11,820 A1,580
OZ2ZSYHA 6,240
0EE=S1 A SA2
1,200,000 x 1A 1,200
0EE=R1W 2D Zel]
4,800,000 %14l 4,800
0BES1 =4I| HIIA A
120,000 »2CH 240
OANEEHISAU(BEESRSY)] S22
) 4,000,000 * 1Al 4,000
IZMESXAN 223 2,000 2,000 0
206 XH2H| 2,000 2,000 0
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SN

raf=N,

HE: C2XY Y HI|Re
Sl FHOX FMIIAIE FH) Chol: & 2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
T 2,000 2,000 0
OR2HATH L 2,000, 00021 *14} 2,000
Y2 YA (AL D) 297,614 315,686 ~18,072
=2l (AL D}) 233,656 250,823 ~12,167
ol gt HIRAY (AL D) 233,656 250,823 ~12,167
101 Q12| 229,716 242,243 ~12,507
09 SINAHA2EX2H 229,716 242,243 A12,507
OOt THO BRI & B 2422l 30,850
0J1=23 35,5602 +12§ x3652 12,980
SPIEIES= 12,979, 4002 * 1/ 12x400%+ 1% 4,327
o AZte| 2R ag
4,944+ 1501 /100+30A| 2H+12 x 122 2,670
0UXRBEINSEY 39,5502 %124 x202 792
02EINZ(9E)  9LI«18,0008 512 *128 1,044
02HINMHB(1E)  1L%10,0008 %1+ 122 120
o 4l 130,002+ 1%+ 122 1,560
0 RESZY| 70,0002 %12 122 840
0 ZEE It 300,000% 1% +23] 600
0 HS A 20,0002 * 12§ x23| 40
o BF2ZH| 50,0002 *12§ x 128 600
o =S| 50,0002 %12 122 600
0 JFH IR H] 540,808% 12 x33] 1,623
0ELY 80,0002 +12f 122 960
oRBAY 70,0002 %12 x 128 840
0OtAToHOrBRA 2RI T|=H|
354, 0002 1411 354
OE224+8 24 130,910
0Jl=23 35,5602 42 +365 51,918
0JlLAg 1,081,61621 #43] x2S 17,306
SRR
4,94421%150/ 100+30AI 2142 122 10,680
0022 4Y
39,5522 %200/ 100+ 152 *4% 4,747
0URRBEINSEY 39,5502 42§ x202 3,165
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S s}
M. HE=2HAY|(HAL)
S olE2d9y|(Hda )
S HEM O (S H) - HIRAY - BAS Ol Ak o4 dE =
- o= * T * - (= R wi e e o = 0:”/.:"%
0 2EIA2 5,352
442 43513, 000 18+ 128 624
pE 2 68 %15, 0002 x1H «12& 1,080
1|22 18 %10,0002 x1H «12& 120
14E 25 143 %21 0002 x1H x12& 3,528
oBYRRLY
39,5522 150/ 100%4&H 12 2,848
o JFAHI X & H| 540,808& *4H x33| 6,490
o EdEMH| 25,080
- 24| 130,000 *4H x12& 6,240
MR- | 70,000& x4H = 12& 3,360
- @E S| 300,000& x4H 23| 2,400
- M= & AHY| 20,0002 x4 H x23| 160
S AZZ2 Y| 50,000 x4 «12& 2,400
=1l 50,0008 x4 x12& 2,400
e =Y 70,0002 x4H x12& 3,360
EESELESY=Y 30,0008 x1H x12& 360
- AHEEHHI B RS 500,000& x43| 2,000
- IIESY 200,000 = 12& 2,400
0 EZ2ELRY FSIIXESAF II=H|
1,639,000 x 14! 1,639
oNMAANE I|=2H| 935,000& =14l 935
o M &2 X2 2|
5,000& *25H 1Al %25 3 750
Odt==484 B 67,956
oJlEa 35,5603 x23H «365 25,959
o &4 1,081,6162 x43| 2 H 8,653
OAZRAZ2R2LE
494421 %150/ 100*30A| 2 x2S« 12& 5,340
o OIS AY
39,5522 x200/100%x 15 x2H 2,374
o XRESEIISH 39,5528 x2% x20 1,583
0 2EIAa2 4 542
L7E2s 79 %16,0002 x 1Y «12& 1,344
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2 A4
. HYSIHH(ALW)
CHel: QI SAY(AHE W) (Stel-&3)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & @;OH Hns
REEEES 1320, 5002 * 12 » 128 3.198
oYLl rd
39,5522 x150/100*x2H x 12& 1,424
o JHAH X & B 540,808+2Y *33| 3,245
o S| ZMY| 14,200
= Al 130,000& x2H = 12& 3,120
el 70,000& x2H «12& 1,680
HE SO 300,000& x2H x23| 1,200
XS & A 20,0002 x2H %23 80
&2 24| 50,000& x2H x12& 1,200
S=H| 50,000& x2H «12& 1,200
A=< 70,0003 x2H =12 1,680
Mg 30,000& x1H *12& 360
AESHIEEXY 500,000& *43| 2,000
s 140,000% 12& 1,680
oolx=E=4g I=H(2Y) 636,000 14! 636
203 YRF=L&Y| 7,740 7,380 360
01 J|22I LRI 3,300 3,000 300
OEA=Z29YL2)| 2o H2 3
3,300,000& 3,300
04 ENSIYERF=EH 4,440 4,380 60
ORASHHRFAHI 370,000 x12& 4,440
204 XPSHAH| 1,200 1,200 0
03 SHERHESHI 1,200 1,200 0
ON&REg< 100,000 *1H *12& 1,200
o2z (AL D) 58,958 64,863 5,905
Jl2dHl NHEAME (AL ) 58,958 64,863 5,905
201 B2 9| 31,278 31,293 A 15
01 At222/Y| 30,438 30,453 A 15
OZ &l 5,000& *29YH x6A x 12 10,440
Oget=EH| 19,998
o Yit=EH| 54,590& x20H « 128 18,998
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